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_ JAL-JTAT I —F &% 591,385 103.4 734,305 101.8 80.5 79.3
AR JAL 278,405 100.0| 307313 100.6 90.6 91.1
JTA 261,308 105.7 360,030 103.6 726 71.1
RAC 45,844 110.5 61,250 98.2 76.5 68.0
JAC 4,828 114.6 5712 99.2 84.5 73.1
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il Ein=at RER(AN) | Bk [Samacs ] mako) | MREG [FERmEE
FEH=F JAL/JTA 237,074 99.9 260,723 100.8 90.9 91.8
FA=H JAL 41,599 101.4 46,920 100.0 88.7 874
BT =A% JAL/JTA 22,399 99.2 29,700 100.0 75.4 76.0
tBE = H JTA 48,911 103.5 59,400 100.0 82.3 79.5
FHE=%1E JAL/JTA 15,651 96.8 19,800 100.0 79.0 81.7
PEH=="%H JAL/JTA 8,662 105.8 9,900 100.0 875 827
=61 JTA 5,670 89.7 9,900 100.0 57.3 63.9
EE==1H JTA 5,997 - 9,900 - 60.6 -
FER=REH JTA 29,505 99.1 39,600 100.0 745 75.2
[ =#RFH JTA 8,390 103.1 9,900 100.0 84.7 822
INA=BRER JTA 7.854 96.4 9,900 100.0 79.3 82.3

RJF=TEKXE JAC 1,194 117.5 1,392 96.7 85.8 706
RHE=5#H RAC/JAC 4227 123.5 5,190 116.9 81.4 77.1
T =Pk REB JAC 2,292 104.1 2,880 100.0 796 76.5
ByMRET 439,425 101.8 515,105 102.5 85.3 85.9
BHE==14 JTA/RAC 56,452 104.1 82,200 100.2 68.7 66.1
BFE=01E JTA/RAC 47,288 109.2 70,470 99.6 67.1 61.2
RE=AKE JTA/RAC 19,684 105.7 27,850 98.5 70.7 65.9
BFE=FMKE RAC 3,554 112.2 4,500 100.0 79.0 70.4
RF=dtXE RAC 1,355 104.5 1,500 100.0 90.3 86.5
RHE=5NE= RAC 3,355 129.4 4,600 101.1 72.9 57.0
Eh=%2RKM/ RAC 4,199 112.9 6,000 105.3 70.0 65.3
BMAR=ILXE RAC 1,244 111.6 1,500 100.0 829 743
siE=5E RAC 6,936 113.6 10,100 112.8 68.7 68.2
HEh=F18 RAC 6,322 105.8 8,500 81.0 74.4 56.9
BN 150,389 107.4 217,220 99.5 69.2 64.2
EHEREL 589,814 103.2| 732,325 101.6 80.5 79.3
T EMRBREEH 1,571 357.9 1,980 300.0 79.3 66.5
EHBROE 591,385 103.4] 734,305 101.8 80.5 79.3
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RiFa =355 JTA 134 99.9
fE[E =38R JTA 283 92.3
FIH=%"1E JAL/JTA 93 86.6
PFH=8% JAL/JTA 29 45.7
RfE=%A1E JTA 38 71.0
=% JTA 22 -
RE =35 JTA 215 106.1
RIS 1§:5 JTA 21 77.3
INR=FR TR JTA 3 61.0
RBE=5A RAC/JAC 1 74.7
R ANERET 839 93.0
RBE=F0 JTA/RAC 483 89.3
RE=F1E JTA/RAC 396 82.3
MB=AXE JTA/RAC 98 97.6
RB=FAR RAC 21 101.4
MEF\=ALK=E RAC 9 115.0
REH=58E RAC 24 121.7
EE=%EM RAC 23 99.0
BAE=IKXE RAC 7 113.0
AlE=58E RAC 37 87.8
En=A4iE RAC 17 71.7
R NRET 1,114 88.1
EHRRIRSE 1,953 90.1
RIS 5T 0 -
L RRSET 1,953 90.1
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